RERERLARBUKTEEEAF111]

1101 [FERE [TER [ A&EZE | 2010 [AiEE=masas] 1989
7kf(:l*/l:73'J) ] R 58 ERHEEA, PR+ R RE [FEftmia | 245a

E(bhaglfk) [ FHIE(10hall

] ) BMZ OB KIEDHEE )
D¥ﬁ£ﬂ? ;,%%l/\» W\/\»
XVEZREHETHERERECEANVES L. BR.BR. ERELGESOE-AHETLA ZARE T ZTOMICBAT L TEZE,

HﬁTE‘iﬁF’

* 5N
BRF%E: 3 A ERFEH A BHEFE (BHEERLE) A
A5 57 B RS (10adp7=Y)
B 18 2H 3H 4H 5H 64 7H 8H 9H 108 118 128 &t
{Iﬁg% F[R[F|E[R[F|E[®[F|E[R[F|E[R][F|E[R[F|E[p[F| E[@]F[E[R[F| E[R[ | E[R[F|[E[R][F]| ="
I$E-BH 08 06| 0404 22
g, Bt 10 10 2.0
KhE 05 08 1.3
Higz 33 3.3
BE 1.6 33 4.9
KEHE 02f02]02]02[02]02[02]02]02[02]02 22
BEEE 06| 06 06| 06 06| 06 06| 06 4.6
[ 33 3.3
H T R 22 4.1 a1 8.2
0.0
0.0
0.0
0.0
‘S{ é 0.0i 00|oo|oofoofo00|O8|OO|10Of[04]|12]|40|08[02]|08)|24|02|40]|08|02|08[08|00|33|41|[41]10]|00|00|00(f00)]00]00]|00]|O00 31.9
XEBHEET. AREHOHTHE,
SR X
8BS, F594—335 ), BHEZMGS). a2/ \1(4%), S8, M. REKEGE)
S EHAR RIS
A [ [ [ [ [ [ [ [ [ OF [ 1B | T8 | p=
) LIEPI'FILIEPI'FILIEF'I'FILIEPI'FILIEF'I'FILIEPI'FILIIIF'I'FILIEPI'FILIIIF'I'FILIEPI'FILIEPI'FILIEPI'Foﬂi
A
O:EHE
EfHAR (@) © | | WURFE
U= (kg/10a) 450 450
B {fi(F/kg) 550 550
£%8(M/10a) 0 0 0 0 0 0 0 0 247,500 0 0 0] 247,500
2 ZE¥(M /104 0
£ -I 247,500
STEEHE0adH 1Y) S EEH10adH 1Y)
e BE ] ERER 8 e i BE 28
&it 0 &it 0
SEHE(10adp1=Y)
e EAEGke BE i3 HRmE EX OXILWFHH0adHhizY)
[ %% | FBH | Woce | =& |
Sat 3,551
SEHEYEE(10adkh1=Y)
23 £ B= 25
St 16,122
XEEE={EFE x Bl
ST DhFEMFLE(10adh 1Y)
e fiEia) B il e FERER ]
&it 1,714
S ZTDMDER
mA | 8 |
Tk B - KFIE 7,959
&t 24,571 TR AR 11,429
KEF=—BEHxBE-FREXK ait | 19,388
SEEH0aH-Y)
3 e i EE Bh= EE: &8 OEfi.ﬁﬁéwa&tt )
[ 3
[ 0
&t 0 EHE 16,122
ZDEEM 24,571
QEN NS HKE(10adp1-Y) X3 0
e piki ] BE FERER 25 (B AREBKE 8,571
Bfa 0
ﬁiuiﬁﬁ 3,551
FEYEE 1,714
ZOMDER 19,388
&t 73,917
5T 8571 KEEBRBEIEHEOHTHA




